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a)conditionally convergent
b)a divergent p series
¢)divergent by the ratio test
d)a series for which the ratio test is inconclusive
absol / convergent
fnone of the above L{
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b) convergent by the infegral fes
¢) convergent by the ratio test
d) convergent by the root test

e) divergent by the ratio test
finone of the above
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2)The series Z S is (q
(Ca)diverges by the root test l

\
/.4 2n
2 2t
b)a convergent p series (q“
¢)converges by the root test " ’99"

d)a series for which the root test is inconclusive

e) a divergent geometric series
finone of the above
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~CJabsolutely convergent )
d)convergent by the integral test
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5)The series Z
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a)conditionally convergent \ n
b)divergent Cn ~\—’L) + 4-' sl
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e)divergent by the alternating series test

f)none of the above \ —_—
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3)The series i(—l)"(\/n+3 —vn+2)is

(®) conditionally convergent >
¢) absolutely convergent

d)diverges by the divergent test
¢) divergent by the ratio test
fnone of the above
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a)diverges by the limit companson test 'MDL:) I 'q"'
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a)the root test is inconclusive

b) conditionally convergent

¢) a divergent geometric series
d) convergent by the root te

(C) divergent by the root

Dnone of the above
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o 10)The minimum number of terms needed o estimate the sum |
T)If the sum of the first n terms of a series Za" is given by n (_”n
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f)none of the above




